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 𝟏. 𝟏  fmdÿ idOl  

 (𝑎) 2𝑥 + 24     (𝑏) 7𝑥2 +  5𝑥𝑦 +  6𝑥3  

 (𝑐) 𝑎𝑏2 +  5𝑏     (𝑑) 𝑥𝑦 + 𝑥𝑧 + 𝑥2    

 (𝑒) 𝑎3𝑏 + 𝑎𝑏3     (𝑓) 5𝑥2𝑦3 −  15𝑥𝑦2 

 (𝑔) 4𝑥 (𝑥 − 𝑦) + 5𝑦 (𝑥 − 𝑦)   (ℎ) 𝑝𝑥 − 𝑝𝑦 + 𝑞𝑥 − 𝑞𝑦  

 (𝑖) 𝑝2 −  𝑎𝑏 + 𝑏𝑝 − 𝑎𝑝    (𝑗) 𝑥2𝑦 − 1 − 𝑥 + 𝑥𝑦   

 (𝑘) 𝑎 (5𝑥 − 𝑦) − 10𝑥 + 2𝑦    (𝑙) 𝑚𝑠 − 2𝑛𝑡2 − 𝑛𝑠 + 2𝑚𝑡2 

 (𝑚) (𝑎 − 𝑏)2 −  𝑎 + 𝑏    (𝑛) 𝑥𝑦 − 4 + 4𝑦 − 𝑥 

 (𝑜) 𝑥2 − ( 𝑎 − 𝑏)𝑥 − 𝑎𝑏    (𝑝) 𝑎 (𝑥 + 𝑦) + 𝑏 (𝑦 + 𝑥) 

 (𝑞) 1 +  4𝑥3 +  2𝑥 + 2𝑥2     (𝑟) 𝑥 (𝑦 − 2𝑧) +  𝑧 (2𝑧 − 𝑦) 

 (𝑠) 5𝑥2𝑦 − 4𝑎 + 5𝑎𝑦 −  4𝑥2     (𝑡) 𝑝𝑥 + 2𝑞𝑥 + 𝑟𝑦 − 2𝑞𝑦 − 𝑝𝑦 − 𝑟𝑥 

 

 

 𝟏. 𝟐 j¾.c m%ldYk  

 

(𝒊) (𝑎) 5𝑥2 +  17𝑥 + 6  (𝑏) 2𝑥2 +  13𝑥 + 20 (𝑐) 2𝑥2 +  13𝑥𝑦 +  15𝑦2 

 (𝑑) 2𝑥2 +  5𝑥𝑦 + 2𝑦2 (𝑒) 4𝑥2 + 12𝑥 + 9  (𝑓) 𝑥2 +  9𝑥 + 20 

 (𝑔) 𝑥2 − 4𝑥𝑦 + 4𝑦2 (ℎ) 𝑥2 − 10𝑥 + 9  (𝑖) 𝑥2 −  8𝑥 + 15  

 (𝑗) 8𝑥2 −  26𝑥 + 15 (𝑘) 2𝑥2 −  5𝑥 − 3  (𝑙) 𝑥2 −  4𝑥 − 21 

 (𝑚) 2𝑥2 +  7𝑥 + 3  (𝑛) 2𝑥2 +  13𝑥 + 6  (𝑜) 𝑥2 −  10𝑥 + 21  

 (𝑝) 3𝑥2 −  10𝑥 + 8  (𝑞) 6𝑥2 −  7𝑥 + 2    (𝑟) 3𝑥3 − 21𝑥2 +  30𝑥

 (𝑠) 15𝑥2 +  11𝑥 − 14 (𝑡) 𝑥2 + 6𝑥 − 91   (𝑢) 12𝑥2 + 𝑥 − 6   

 (𝑣) 𝑥2 −  𝑥 − 56  (𝑤) 7𝑥2 −  58𝑥 + 63   (𝑥) 2𝑥3𝑦 − 30𝑥2𝑦2 +  28𝑥𝑦3 
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(𝒊𝒊) 

 (𝑎) 𝑦2 +  8𝑦 + 15  (𝑏) 𝑎2 +  8𝑎 + 12  (𝑐) 2𝑦2 +  7𝑦 +  5  

 (𝑑) 𝑎2 +  10𝑎 + 24  (𝑒) 𝑦2 − 12𝑦 + 35  (𝑓) 𝑦2 −  17𝑦 + 42 

 (𝑔) 𝑦2 − 8𝑦 − 20  (ℎ) 𝑎2 + 11𝑎𝑏 + 24𝑏2 (𝑖) 4𝑦2 −  13𝑦 + 3  

 (𝑗) 𝑦2 −  6𝑥𝑦 + 9𝑥2 (𝑘) 𝑎2 +  4𝑎 + 3  (𝑙) 𝑚2 − 12𝑚 + 36 

 (𝑚) 8𝑝2 − 14𝑝𝑞 + 3𝑞2 (𝑛) 𝑦2 +  4𝑦 − 12   (𝑜) 18𝑦2 −  9𝑥𝑦 − 20𝑥2  

 (𝑝) 𝑦2 − 4𝑦 − 21  (𝑞) 𝑝2 − 5𝑝 − 24    (𝑟) 𝑝2 − 6𝑝 +  5

 (𝑠) 𝑦2 +  4𝑥𝑦 − 5𝑥2 (𝑡) 𝑦2 + 8𝑦 + 12   (𝑢) 𝑥2 − 14𝑥 + 45  

 (𝑣) 𝑝2 −  9𝑝 + 14  (𝑤) 𝑦2 −  11𝑦 − 60   (𝑥) 2𝑡3 − 7𝑡2 +  5𝑡

(𝒊𝒊𝒊)  

 (𝑎) 3𝑚2 +  𝑚𝑛 − 2𝑛2 (𝑏) 𝑎2 +  𝑎 − 2  (𝑐) 𝑥2 +  4𝑥 −  12 

 (𝑑) 3𝑎2 +  5𝑎𝑏 + 2𝑏2 (𝑒) 𝑛2 + 2𝑛 − 35  (𝑓) 3𝑥𝑦2 +  𝑥𝑦 − 10𝑥 

 (𝑔) 3𝑘2 + 4𝑘 − 4  (ℎ) 𝑎2 + 7𝑎 − 44  (𝑖) 𝑥2 +  2𝑥 − 24  

 (𝑗) 𝑎2 −  2𝑎𝑏 − 24𝑏2 (𝑘) 15𝑥2 +  𝑥 − 58  (𝑙) 𝑎2 − 9𝑎 + 20 

 (𝑚) 𝑥2 − 6𝑥𝑦 − 7𝑦2 (𝑛) 12𝑎2 − 7𝑎𝑏 − 12𝑏2  (𝑜) 2𝑎3 − 𝑎2𝑏 − 3𝑎𝑏2  

 (𝑝) 10𝑥2 − 7𝑥𝑦 − 12𝑦2 (𝑞) 𝑎2 − 5𝑎2 − 84𝑎   (𝑟) 2𝑝2 − 11𝑝𝑞 − 21𝑞2

 (𝑠) 𝑝2 − 4𝑝 − 21  (𝑡) 𝑥2 − 7𝑥 − 228  (𝑢) 6𝑧2 − 21𝑧 − 12  

 (𝑣) 𝑎2 −  𝑎 − 6  (𝑤) 𝑡2 −  8𝑡 − 20    (𝑥) 2𝑥2 −  3𝑥 −  5 

 

 𝟏. 𝟑 j¾. foll wka;rh   

  

 (𝑎) 𝑦2 − 49  (𝑏) 2𝑎4𝑏 − 242𝑏3  (𝑐) 81𝑝2𝑞2 −  𝑝   

 (𝑑) 12𝑦3 −  75𝑦𝑧2    (𝑒) 7𝑥2 −  28  (𝑓) 𝑚2𝑛2 −  16  

 (𝑔) 8𝑥2 −  50𝑦2  (ℎ) 𝑥2 −  0.04  (𝑖) 5𝑥3 −  0.05 𝑥  

 (𝑗) 𝑝3 −  𝑝𝑞2  (𝑘) −3𝑚2 +  75  (𝑙) 𝑥2𝑦2 − 4𝑎2 

 (𝑚) 𝑥4 − 𝑦2  (𝑛) 4𝑥2𝑦3 − 9𝑦   (𝑜) 4𝑦2 −
1

9
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 𝟏. 𝟒 >k foll ftlHh  

  

 (𝑎) 𝑥3 + 27  (𝑏) 250 + 2𝑥3𝑦3  (𝑐) 𝑥3 +  0.125   

 (𝑑) 8𝑝4 − 𝑝𝑞3     (𝑒) 𝑥3𝑦3 + 𝑧3   (𝑓) 𝑥3 + 125𝑦3  

 (𝑔) 343𝑎3 +  64  (ℎ) 7𝑝3 +  189  (𝑖) 5𝑎3𝑏3 + 40   

 (𝑗) (𝑥𝑦)3 + 8  (𝑘) 𝑎3 +  0.125  (𝑙) 𝑥6 + 8𝑦3 

 (𝑚) 
𝑥3

8
+ 

𝑦3

125
  (𝑛) 𝑎4𝑏4 +  216 𝑎𝑏  (𝑜) 𝑎3 +  

1

27
 

 

 

 𝟏. 𝟓 >k foll wka;rh   

 

 (𝑎) 𝑦3 − 125  (𝑏) (2𝑥)3 −  (7)3  (𝑐) 0.008 − 𝑥3   

 (𝑑) 32 −  4𝑥3     (𝑒) (4𝑢2)3 − 1   (𝑓) 𝑥3𝑦3𝑧3 − 1  

 (𝑔) 64 − 0.027𝑥3  (ℎ) (5𝑢2)3 −  729  (𝑖) 6𝑥3 −  6 

 (𝑗) 27𝑥3 −  8𝑦3  (𝑘) 125 − (𝑎𝑏)3  (𝑙) 27𝑝4𝑞4 −  𝑝𝑞 

 (𝑚) 𝑎3𝑏4 −  𝑏  (𝑛) (
𝑥

𝑦2)
3

−  
𝑥6

𝑦3  (𝑜) 𝑥3 − 
1

8
 

 

 

 𝟏. 𝟔 úÔh Nd.    

 

(𝒊) (𝑎) 
3𝑥

4
−

4𝑥

5
+

𝑥

2
-     (𝑏) 

2𝑥

3
−

3𝑥

4
−

𝑥

2
+

4𝑥

5
   

 (𝑐) 
5𝑥

7
−

(𝑥−2)

4
+

(𝑥−1)

2
    (𝑑) 

(3𝑥−1)

4
−

(𝑥−5)

3
    

 (𝑒) 
4𝑥

5
−  

(2𝑥−1)

3
+

(𝑥−2)

4
    (𝑓) 

(𝑎+2𝑏)

5
+

(3𝑎+𝑏)

4
−

𝑏

2
  

 (𝑔) 
𝑝+2−𝑝2

4
+  

(𝑝+3)2

3
    (ℎ) 

𝑞(𝑞−1)

5
+ 

(𝑞+6)

4
−

(𝑎−1)

2
  

 (𝑖) 
(𝑎−5)

9
−

(3𝑎+2)2

4
     (𝑗) 

𝑥+2𝑦2

7
−  

𝑥2+37

3
+

(𝑥+𝑦)2

2
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(𝒊𝒊)  

 (𝑎) 
3

(𝑥2−9)
−  

5

(𝑥−3)2    (𝑏) 
3

(2𝑥−1)
−  

2

(3𝑥+2)
   

 (𝑐) 
2

(𝑎3−1)
+  

4

(𝑎−1)
+ 

5

(𝑎2+𝑎+1)
   (𝑑) 

2

(𝑥2+𝑥−2)
+ 

3

(𝑥2+3𝑥+2)
   

 (𝑒) 
2

(𝑥−1) (3𝑥+1)
+  

1

(2𝑥−7) (𝑥−1)
   (𝑓) 

4

(𝑥2−1)
−

5

(𝑥2−𝑥−2)
  

 (𝑔) 
1

(𝑎−𝑏) (𝑏−𝑐)
+  

2

(𝑐−𝑎) (𝑎−𝑏)
+  

3

(𝑏−𝑐) (𝑐−𝑎)
  ℎ) 

3

(𝑥2−𝑥+1)
− 

2

(𝑥3+1)
 

 (𝑖) 
5

𝑥−1
+  

2

1−𝑥
      (𝑗) 

1

𝑥−𝑦
−  

1

𝑦−𝑥
−

1

𝑥2−𝑦2
  

 (𝑘) 
2𝑥

(𝑥2−1)
−  

3𝑥

(𝑥2−𝑥−2)
    (𝑙) 

4

(1+𝑥)
−  

3

(1−𝑥)
−  

7𝑥

(𝑥2−1)
  

 (𝑚) 
(4𝑎2+𝑏2)

(4𝑎2−𝑏2)
+  

(2𝑎−𝑏)

(2𝑎+𝑏)
    (𝑛) 

(𝑥−2)

(𝑥+2)
−  

(𝑥−3)

(𝑥2+5𝑥+6)
  

 (𝑜) 
𝑥

(𝑥+𝑦)
−  

𝑦

(𝑦−𝑥)
−

1

(𝑥2−𝑦2)
    (𝑝) 

𝑎

(𝑎−𝑏)(𝑥−𝑎)
+  

𝑏

(𝑎−𝑏)(𝑥−𝑏)
  

  

(𝒊𝒗)  

 (𝑎) 
25

(2𝑥−3𝑦)
 ÷  

20

(8𝑥−12𝑦)
    (𝑏) 

25𝑥2−4𝑦2

5𝑥2−7𝑥𝑦+2𝑦2  ÷  
15𝑥+6𝑦

𝑥4𝑦−𝑦4𝑥
  

 (𝑐) 
𝑚+𝑛

𝑚2−𝑛2  ÷  
𝑚3−𝑛3

𝑚2−2𝑚𝑛+𝑛2    (𝑑) 
3𝑥2𝑦−3𝑥𝑦2+3𝑦3

(𝑥−𝑦)2  ÷  
(𝑥3+𝑦3)

𝑥2−𝑦2   

 (𝑒) 
2𝑎2+𝑎𝑏−𝑏2

𝑎2−𝑏2  ÷  
2𝑎2−3𝑎𝑏+𝑏2

(𝑎−𝑏)2    (𝑓) 
𝑥2−𝑦2

𝑥3−𝑦3  ÷  
𝑥+𝑦

𝑥2+ 𝑥𝑦+ 𝑦2   


